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Fifth Semester
Civil/CTM Engineering
Scheme OCBC 2019
QUANTITY SURVEYING & COSTING
Time: Three Hours Maximum Marks : 70

Note : 1) All 7 Questions are Compulsory. Internal choices has been
given in each LO (Learning Outcome).
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1) Incase of any doubt or dispute, the Ehglish version question
should be treated as final.
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Q. | LO. | Questions . | Marks

1. | LO11 | Differentiate between: 10
) Revised estimate and supplementary

estimate._ : .
i) Plinth arearate method and cubic content

~ method of estimate.

IR T HINT o

i) geerT draher Td IR  Hraherd

i) wERped H PR ATRA R fafer wg e=

qrft fefer . -

, OR/31dar
L.O12| Prepare preliminary estimate of an officebuilding | 10
carpet area 600 sqm. 25% of built-up-area is
taken up by corridor verandah etc. and 10% by
walls. Assume plinth area rate Rs. 8,000 per
sqm. Also make provision for electricity, water
| supply, sanitary fitting contingencies and other

services.

S/2024/6910 PO



Questions

T FRE WET B URMG Wawe a9
W & HRAC AFBA 600 T ), § AT e
TN 25% DNSK RRT AR W& 10% dnet ARy
&l 81 ol 8FFA R W, 8000 WY affier mifyy
W e ¥ Rga R et wresar f
I IR TN I Wl ff wreum S

Marks

2. | LO13

/S,.:o%aE%momEommE.aEn:%QEo following
items

D Plastering
1) Woodwork for door frame

i) Earthwork in excavation in foundation
iv) C.C. work

v) R.C.C.work
Vi) Painting work
vi)) Damp proof course
vii) Brick work in foundation
X) Expansionjointin building
X) Earthfilling inplinth
Frefoen o @ T §1 g RiRad
) TR
i) R~ & dRge F R Tt @1 Bt
i) -Ala 5 II1 GaTs 1 dR
iv) C.C.adRd _
v) RCC.3d
Vi) gaig &g
vii) e et =
vil)) g § e Rt
ix) 9T § TER S
X) A
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’ Q. ’ LO rC:owza:m

Name the different methods of preparing
stage-1 estimate and explain any one in brief.
-1 Wame duR T S Bftm fRe &
T wegd e el we Bty @ wdg & ot
S|

,?.—n:._»&
10

Calculate earthwork in excavationin foundation | 10
foraR.C.C. framed building (figure1).
@W.0.0.wﬂﬂﬁmﬂ%g&mﬁmﬂmmﬂﬁ
o i (R 1)
OR/za
Forthe R.C.C. framed building givenin Bﬁmao.a 10
No.3, calculate quantity of reinforcement in |
foundation using thumb rules. (upto plinth only).
¥eF . 3.3 & R.C.C. s fafeen & @ﬂ/
A A o Ted B ST TR G TS D
e 6 T B (e T Hae) ,

4. ‘Forthe R.C.C. framed building mfmb.anmaommou
no. 3, calculate quantity of reinforcement inplinth
beam using thumb rules.

e . 3 ¥ & 18 R.C.C. s fifeen & o

o A 3 ore ed o1 S T e

&) aEn B T St :
OR/JAa1

For the R.C.C. framed building given n %.nwmos,
1no. 3, calculate quantity of reinforcement inroof
beam using thumb rules. o
ge . 3 4 & ™ RC.C. ¥ R @ g
ﬁﬁ%mﬁﬂﬁ%ﬁﬁ%mﬂmﬁﬁu
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Q. LO

Questions

20mm thick plaster is 1:4 cement mortar for
120-sqm.
raege et Y mET HIRR1 120 i ff, %
oY 1:4 W= fMamar 4 20 fft, A yoreR &
ford

OR/3reyar
Prepare rate analysis for I class brickwork in
foundation in cement mortar 1:4 for 100 cum.

1:4 e femar & arr HIRRY 100 o §t %
for

Calculate the quantity of material required for

g F wem Aoft RS $e Brf @1 =) ey |

10

10

.

AR.C.C.room4mx3m (intemal dimension) with
30cm thick brick wall is provided with 10cm
thick R.C.C: slab having full bearing on the
walls. Main reinforcement consists of
10mm ¢ @10cm c/c distribution bar’s are
6mm ¢ @30cm c/c. Take end and side cover
4cm and top and bottom cover 1.5cm. The
alternate bar’s are bentup one fifth of span on
45° at both ends. Calculate number of bars,
length of bars and total weight of steel required.
T% T 4mx3m (3TiaR® 919) fit SR 30cm
At $et & § g 10cm A wEfera A
sishic Pt Toig IR W T 3t &1 q&g Jee
10mm & &7 10cm c/c ToIT faeRor 88 6mm
& 1 30cm c/c §1 BR G 919 deR 4cm W@
U TUT el BeR 1.5cm o | ThieR B QA1
RRI R 45° & P01 W g & grad 7T R G
g ST Bl H G, Fars AT IMEYD
el & o YR B THT DI
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Marks

J

AR.C.C.beam 1:2:4 size 20cm#30cm of clear
span 4m rests on 30cm thick wall is reinforced
with 3 straight and 2 bentup bar’s of 12mm ¢
and stirrups 6mm ¢ @25cm c/c throughout.
Anchor bar’s 2No.s of 10 mm ¢. Prepare bar
bending schedule.

e yeferd e dishle oRF 1:2:4 61 919
20cmx30cm ¥ AT FGE I 4m &1 §1 A1 &5
30cm A1 AR R ¥ Fl G- DY 12mm

& (58) 6mm & & 25cm c/c ® R &l
o G@R B3 10mm @ A 2 & AR AT

et T

i o <Aeh e & g Bt A vt e €1 |

10

The inside dimensions of a septic tank are length

2.5m, width 1.5m and depth 2.5m. Base
concrete 1:3:6, 15 cmthick has 15cm projection
all round. Brick wall thickness is 20cm. Calculate
the quantity of the following items.
a) Earthwork in excavation

b) Cementconcrete in base

@@@&mﬁ%%ﬂwﬂmmu?
e 1.5m o TERTs 2.5m. 8! ¥ pihie 1:3:6,
£ e 15 cm g1 a0 IR} 3R 15cm HoraeH
1 g & A B e 20em & AR

e} & o BT

2) g P
b) auR & Eie ST
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QFO [ Questions (7]
LO43 | a) Calculate quantity of brick’s required for a 8ism
wall of size 80x3x0.30m. 0.3m—] |— | [-osm — frosm
80x3x0.30m @R & R b oy Lef L= S5
%ﬁ_mﬁ% _g__ “z m“_ ROOM ROOM
LOS53 | b) Write task work per day for 3.0m 3.0MX3.0M OO
1) Painter - single coat painting on doors
i) Carpenter - timber framing teak wood . o=
fA=foiRea & ford ufdifRT &1 eres it N
“w:wm.w: ' - HALL
@ Dﬁlﬁm@ R TH .nHvJN. Q~Wu_ . 6.3mx3.0m
) aed-de e 4 dhae T g ee—"
0.3
S PLAN
T o A 10cm PCC
”l._waa STONE SOLING
H.luooz SAND FILLING
1.50 |~1|o..ua
0.25m = __ ‘HJ 10cm PCC
T Hograaarix 15cm STONE SOUNG
—+{ 0.9mx0.9m 1~
t—4.0mx1.0m—

FOOTING SECTION
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For Q.3 and Q4.
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